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The questions are of equal value for any group/half. The
figures in the margin indicate full marks. Candidates are
_required to give their answers in their own words as far

as practiable. [llustrate the answers wherever necessary.

1.Answer any five questions : 5%2

@ a) Define all or none law. 2
b) What 1s EPSP and IPSP? 1+1

c) What is nerve impulse? 2

d) What is ‘stretch reflex"? 2

e) Name the cerebellar nuelei. 2

f) What is basal ganglia ? 2

g) What is heat stroke ? 2

h) What is sebum ? 2
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2.Answer any four questions : 4x5
a) Describe the structure of muscle spindle. 5

b) Briefly describe the structure of neuro-mascular
junction of skeletal muscle with a neat diagram. 4+1

c) Give a brief account of the function of the fioc-
culonodutar lobe. 5

d) Discuss briefly the role of hypothalamus in the

control of food intake and sieep. 2V+2%

e) Write a note on trple response. 5

f) What is the physiological basis of fever? 5
3.Answer any one question : 1x10

a) Describe with a labelled diagram the structure of a
typical synapse. Distinguish between isotonic and
isometric coontraction.

b} Show schematically the loaction of different lobes of
cerebral corte and mention their main fucntions. What
1s hypothermia? (4+4)+2
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